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Additional Assessment Materials 

Pearson Edexcel AS Level in Business (8BS0)
 
Resource Set 1.4: Managing people





 
 [image: ]1. Explain how a flexible workforce might benefit SSP.				(4)
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
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1. (a) What is meant by on-the-job training?						(2)
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

(b) Assess two likely benefits for PureGym of its managers using a paternalistic leadership style.									(8)
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
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________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
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____________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

(c) Assess the extent to which training assistant managers for promotion to managers could benefit a business, such as PureGym.				(10)
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2. (a) What is meant by span of control?						(2)
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

(b) What is meant by consultation?							(2)
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

(c) Assess the potential benefits for Beaverbrooks of having a more decentralised organisational structure.								(10)
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3. Assess whether there is likely to be a trade-off for M&S when it targets a younger market segment for its women’s clothes.[image: ] 						(10)
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The Chief Executive has reorganised management by taking out a level of the hierarchy in Aston Martin’s organisational structure.

4. Assess the likely impact of this change on the motivation of the workforce.
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Extract B
Select Service Provider (SSP) to really fly at airports

At airports and railway stations across Europe and beyond many people will have eaten
or drank at restaurants, bars and cafes operated by SSP. SSP is a leading operator of
branded food and beverage outlets in travel locations across 29 countries. It operates
‘about 2,000 outlets at 124 airports and 270 railway stations worldwide.

Some brands belong exclusively to SSP such as Millie’s Cookies, Upper Crust and Caffé
Ritazza, but SSP also operates franchises for well-known names such as Nando's, Burger
King and Starbucks.

SSP has been successful since becoming a public limited company in 2014 and has a
strong plan to expand. 44% of its revenue comes from the UK, with Asia and the Middle
East offering the biggest potential for growth.

Today SSP has about 300 brands. In line with changing customer tastes, many serve
healthier, premium food.

(Source: adapted from ‘Food Outlet firm to really fly at airports abroad"
by Joanne Hart, The Mail on Sunday, 4 October 2015)
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ExtractA
PureGym is the UK’s number one fitness provider

The 2016 UK Fitness Industry Report revealed market growth in the UK fitness industry of
3.2% in the past year. The report highlighted increases of 1.9%in the number of fitness
facilities and 5.3% in the number of members.

Currently 1 in every 7 people in the UK is a member of a gym.

For the first time, a low-cost fitness operator is the UK's number one. PureGym added
60 clubs in the last 12 months. With more than half a million members, six-year-old
PureGym offers no-contract membership and low-cost, 24-hour access. It is the fastest
growing gym chain in the UK.

The 406 employees love working for the business. Managers talk openly and honestly
with the workforce and have leadership skills that inspire confidence.

Staff say the job is good for personal growth, thanks to initiatives such as Shining Stars,
‘which offers on-the-job training to selected assistant gym managers in order to support
promotion within the business.

(Sources: adapted from http://wwiwleisuredb.com/blog/2016/5/11/
press-release-2016-state-of-the-uk-fitness-industry-report and
http://appointments thesundaytimesco.ukarticle/best100companies/)
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ExtractB
Is being Britain's nicest jeweller great for business?

Beaverbrooks, the jewellers, has featured in the Sunday Times Best Companies to Work
For'list every year for over a decade. Chairman Mark Adlestone said: “We are a company
that cares and we believe in consultation with our employees”

‘When Anna Blackburn started as CEO at Beaverbrooks, it had a centralised organisational
structure with a narrow span of control. Anna found that branch managers were not
dealing with issues in-store and she wanted to change that. To give branch managers
more control, Anna made the business more decentralised.

Mark Adlestone admits that jewellery is a tough market: “We have done well on
diamonds, Swiss watches and our own brand silver jewellery, but we have struggled on
gold and other branded jewellery”

(Sources: adapted from http://www.watchpro.com/big-interview-beaverbrooks-chairman-
mark-adlestone-ceo-anna-blackburn/ and http://www.express co.ukinews/uk/727575/
Brexit-British-luxury-watch-industry-sales-rocket)
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Extract A
Marks & Spencer’s (M&S) plan to revive its brand

High street brand M&S has long been a sign of British quality and tradition. It provides
arange of food, clothing and homeware, but over the past two years the business has
struggled to maintain its iconic status.

New chief executive, Steve Rowe, is reviewing the future of its range of fashion brands as
part of an overhaul of s struggling clothing business. “Our priority is fixing clothing” said
Rowe, womenswear seems to be the problem area. M&S has lost touch with what the
50+ age group really want and also needs to attract younger customers, such as those at
the top end of NEXT's demographic of 25 to 45-year-olds.

Rowe acknowledged that some of its clothing needs to be more competitively priced.
MBS sold 30,000 pairs of black jeggings - a 200% increase - after cutting the price by
£2t0 £17.50.

M&S's food business i still very strong. Shoppers are more than happy to buy at M&S, but
they need to see non-food merchandise they like as well. Shoppers are much choosier
these days, meaning M&S needs to become more market orientated.

(Sources: adapted from Marks & Spencer Results: A Tale Of Two Halves © 2016
Mintel Group Ltd and New M& boss brands latest clothing sales fall
‘unsatisfactory’ © 2016 Guardian News and Media Limited)
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Extract A
Aston Martin set for shake-up and targets new buyers

Andy Palmer joined UK-based premium priced car manufacturer Aston Martin as Chief
Executive to implement a new marketing strategy targeting younger buyers and women.

At the Geneva Motor Show he announced that he wants the car maker to rebuild its
range of sports cars as well as add two new cars to the product portfolio in order to
target this new market.

“As an industry, were pretty poor at ticking the boxes that satisfy women customers, we
tend to view cars for women as pink it and shrink it' - add a place to hold your handbag —
‘which | think is quite cynical”

“You have to start with a type of beauty and then imagine how you make that more.
affordable to a younger generation and appealing to female customers” he added.

A more feminine Aston Martin would probably have  higher driver's seat and greater
durability, more like a 4 x 4 vehicle. This will put the company in the competitive, fast-
‘growing segment of premium priced cars, alongside Jaguar who focus on dramatic
design and performance. Bentley’s handcrafted, powerful, luxury cars and Rolls-Royce
cars remain the choice for the super-ich.

(Source: adapted from www.ft com/cms/s/0/1acf27c6-bdcf-11e4-
'9d09-00144feab7de htmitaxzz3ZanpoIQb)
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Answer

Mark

Knowledge 1, Application 2, Analysis 1

Knowledge/understanding: 1 mark for understanding flexible
workforce, e.g.

« Employees have choice over how/when they work by
agreement with the company.

Application: up to 2 marks for suggesting how SSP might
benefit from a flexible workforce e.g.

« Airports and train stations have peak periods during
the day/week flexible working

« Airports have seasonal fluctuations that a flexible
workforce would allow them to manage.

Analysis: 1 mark for explaining the benefit to SSP e.g.

« Allows them to adapt to changes in demand/could
enable staff to work at more than one outlet/brand.

(4)
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Answer Mark

Knowledge 2
Knowledge/understanding: of on-the-job training, e.g.

« Learning/gaining/developing skills (1) whilst at work
doing the job (1) ()
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Indicative content

Mark

Knowledge 2, Application 2, Analysis 2, Evaluation 2

« Paternalistic leaders are in control, but take the
welfare of employees into account when making
decisions.

« Employees may love working for the company where
they feel the managers care about them. Staff
turnover and absenteeism of gym instructors could be
lower therefore reducing the costs of the business.

« Employees may feel more confident with a leader that
makes the best decision for them. If employees feel
looked after, they may in turn provide a better service
to gym users, which could lead to repeat custom and a
good reputation.

Potential Counterbalance

« Some employees, such as assistant gym managers,
may want to make more decisions for themselves and
therefore may be demotivated by paternalistic
leadership/prefer a democratic leader.

« Some gym staff, such as personal trainers, may work
by themselves most of the time, so may not feel so
influenced by the manager.

(®)
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Level

Mark

Descriptor

A completely inaccurate response.

Level 1

1-2

Isolated elements of knowledge and understanding - recall
based.

Weak or no relevant application to business examples.
Generic assertions may be presented.

Level 2

3-5

Accurate knowledge and understanding.
Applied accurately to the business and its context.

Chains of reasoning are presented, showing cause(s) and/or
effect(s) but may be assertions or incomplete.

An attempt at an assessment is presented that is unbalanced,
and unlikely to show the significance of competing arguments.

Level 3

6-8

Accurate and thorough knowledge and understanding,
supported throughout by relevant and effective use of the
business behaviour/context.

Logical chains of reasoning, showing cause(s) and/or effect(s).
Assessment is balanced, well contextualised, using
quantitative and/or qualitative information, and shows an
awareness of competing arguments.
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Indicative content

Mark

Knowledge 2, Application 2, Analysis 3, Evaluation 3

« Offering on-the-job training for assistant gym
managers may increase motivation, as they have
something to work towards.

« Training their own managers means PureGym can
ensure they know all of the company’s procedures.

« Assistant managers will already know the company
and how it works, so less training may be needed than
if external recruitment was used.

« The Shining Stars scheme could make recruiting staff
for the 60 new gyms easier, because new employees
see the chance for progression/promotion.

Potential counterbalance

« Only selected assistant gym managers are given
on-the-job training to become managers, which could
demotivate others/cause resentment.

« If PureGym used external recruitment to find new gym
managers they may get more qualified/experienced
people/new ideas.

« Once the assistant gym managers are trained they
may leave to work for a competitor, such as
Fitness First, who may offer higher wages.

Potential Judgement

« The benefits depend on the quality of the training and
whether the assistant managers who are chosen for
the Shining Stars scheme remain with PureGym.

« It depends on the capability of assistant managers to
become a manager and the progression opportunities
made available, through such things as the 1.9%
increase in the number of fitness facilities.

(x0)
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Level

Mark

Descriptor

A_completely inaccurate response.

Level 1

1-2

Isolated elements of knowledge and understanding -
recall based.

Weak or no relevant application to business examples.
Generic assertions may be presented.

Level 2

34

Elements of knowledge and understanding, which are
applied to the business example.

Chains of reasoning are presented, but may be assertions
or incomplete.

A generic or superficial assessment is presented.

Level 3

5-6

Accurate and thorough knowledge and understanding,
supported by relevant and effective use of the business
behaviour/context.

Analytical perspectives are presented, with chains of
reasoning, showing cause(s) and/or effect(s).

An attempt at an assessment is presented, using
quantitative and qualitative information, though unlikely to
show the significance of competing arguments.

Level 4

7-10

Accurate and thorough knowledge and understanding,
supported by relevant and effective use of the business
behaviour/context.

A coherent and logical chain of reasoning, showing
cause(s) and/or effect(s).

Assessment is balanced and well contextualised,

using quantitative and qualitative information, and
shows an awareness of competing

arguments/factors leading to a supported

judgement.
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Answer Mark

Knowledge 2

Knowledge/understanding: of span of control, e.g.

« The number of employees/subordinates (1) that a manager
is responsible for (1). @
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Answer Mark

Knowledge 2
Knowledge/understanding: of consultation, e.g.

« Employees opinions/feedback are sought (1) when making
business decisions (1). @
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Indicative content

Mark

Knowledge 2, Ap)

lication 2, Analysis 3, Evaluation 3

« Adecentralised organisational structure allows branches to
take more control/make their own decisions.

Beaverbrook's store managers could stock jewellery that

meets the needs of local customers.

« Branch managers could deal with issues in store rather
than passing them on to head office therefore saving time.

Potential Counterbalance

«  Different decisions could be made in each store leading to a
lack of brand consistency

« Some managers may not want the additional responsibility
and become stressed.

Potential Judgement

« Beaverbrooks could become more market orientated by
keeping up with local demand/trends therefore increasing sales.
Poor decisions by one manager could have a negative impact on
Beaverbrooks' brand and impact sales.

(10
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Level

Mark

Descriptor

A completely inaccurate response.

Level 1

1-2

Isolated elements of knowledge and understanding - recall
based.

Weak or no relevant application to business examples.
Generic assertions may be presented.

Level 2

3-4

Elements of knowledge and understanding, which are applied to
the business example.

Chains of reasoning are presented, but may be assertions or
incomplete.

A generic or superficial assessment is presented.

Level 3

5-6

Accurate and thorough knowledge and understanding, supported|
by relevant and effective use of the business behaviour/context.
Analytical perspectives are presented, with chains of reasoning,
showing cause(s) and/or effect(s).

An attempt at an assessment is presented, using quantitative
and qualitative information, though unlikely to show the
significance of competing arguments.

Level 4

7-10

Accurate and thorough knowledge and understanding, supported|
by relevant and effective use of the business behaviour/context.
A coherent and logical chain of reasoning, showing cause(s)
and/or effect(s).

Assessment is balanced and well contextualised, using
quantitative and qualitative information, and shows an
awareness of competing arguments/factors leading to a
supported judgement.
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Indicative content

Mark

Knowledge 2, Applical

n 2, Analysis 3, Evaluation 3

« Atrade-off is a situation in which the benefits of one
option are reduced in return for increased benefit of
another option.

May put off existing loyal customers/older age range.
May lose customers due to confusion over what M&S is
offering.

« May be more competition in the new market so M&S
may not gain the anticipated sales.

« May not have the knowledge required to enter the
younger market.

Potential counter balance
« Already strugglin
« Not aiming at significantly younger market (top end of
NEXT’s demographic)
« Department store so could have sections to satisfy all
segments like House of Fraser with its mix of brands.

Potential Judgement
« There may not be a trade-off if M& manages to
satisfy the needs of both its existing customers and
the new market segment by offering a wide range of
products.

(10)
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Level Mark | Descriptor
0 A completely inaccurate response.

Levell |1-2 Isolated elements of knowledge and understanding - recall
based.

Weak or no relevant application to business examples.
Generic assertions may be presented.

Level2 |3-4 Elements of knowledge and understanding, which are applied
to the business example.

Chains of reasoning are presented, but may be assertions or
incomplete.
A generic or superficial assessment is presented.

Level3 |56 Accurate and thorough knowledge and understanding,
supported throughout by relevant and effective use of the
business behaviour/context.

Analytical perspectives are presented, with developed chains
of reasoning, showing cause(s) and/or effect(s).

An attempt at an assessment is presented, using quantitative
and/or qualitative information, though unlikely to show the
significance of competing arguments.

Level4 |7-10 | Accurate and thorough knowledge and understanding,

supported throughout by relevant and effective use of the
business behaviour/context.

A coherent and logical chain of reasoning, showing cause(s)
and/or effect(s).

Assessment is balanced, wide ranging and well
contextualised, using quantitative and/or qualitative
information, and shows an awareness of competing
arguments/factors leading to a supported judgement
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Indicative content

Mark

Knowledge 2, Application 2, Analysis 3, Evaluation 3

Taking out a level of hierarchy would lead to a
shortening of the chain of command, therefore
improving communications/speed up decision-making
between management and employees on car
production line

Financial efficiency may improve due to the savings in
management salaries, therefore reducing costs/may
allow Aston Martin to provide other financial incentives
to the production workers e.g. pensions.

Motivation may improve due to workers feeling more
involved in car design and therefore empowered

If there are less managers, management style may
change, perhaps moving from autocratic management
to democratic or laissez faire and therefore improve
motivation

Potential Counterbalance

Communication between departments may not
improve as roles and responsibilities may not be clear,
therefore staff may become frustrated and therefore
demotivated

Span of control for remaining managers is likely to
increase which could demotivate both them and their
subordinates due to increased workload.

Employees may feel there are now less chances of
promotion, therefore feel demotivated and may look
for a job with a competitor such as Bentley

Junior managers at the car manufacturer may gain
more responsibility and a greater workload which may
not be reflected in their salary and therefore cause
demotivation

Potential Judgement

The impact of this decision on workforce motivation
may be positive or negative, depending on which level
of management has been removed/how this change
has been implemented

(x0)
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Level Mark | Descriptor
) A completely inaccurate response.

Level1 |1-2 Isolated elements of knowledge and understanding - recall
based.

Weak or no relevant application to business examples.
Generic assertions may be presented.

Level2 |3-4 Elements of knowledge and understanding, which are applied
to the business example.

Chains of reasoning are presented, but may be assertions or
incomplete.
A generic or superficial assessment is presented.

Level3 |56 ‘Accurate and thorough knowledge and understanding,
supported throughout by relevant and effective use of the
business behaviour/context.

Analytical perspectives are presented, with developed chains
of reasoning, showing cause(s) and/or effect(s).

An attempt at an assessment is presented, using quantitative
and/or qualitative information,though unlikely to show the
significance of competing arguments.

Level4 |7-10 | Accurate and thorough knowledge and understanding,

supported throughout by relevant and effective use of the
business behaviour/context.

A coherent and logical chain of reasoning, showing cause(s)
and/or effect(s).

Assessment is balanced, wide ranging and well
contextualised, using quantitative and/or qualitative
information, and shows an awareness of competing
arguments/factors leading to a supported judgement





